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NEW QUESTION 1
- (Exam Topic 1)
A device operating at Layer 3 of the OSI model uses which of the following protocols to determine the path to a different network?

A. STP
B. RTP
C. RIP
D. NTP
E. SIP

Answer: C

NEW QUESTION 2
- (Exam Topic 1)
Which of the following would a company place at the edge of its network if it wants to view and control which Internet applications are being used?

A. VPN concentrator
B. NGFW
C. IDS/IPS
D. Proxy server

Answer: B

NEW QUESTION 3
- (Exam Topic 1)
A UTM is deployed on the external edge of the main corporate office. The office connects to the WAN port of the edge router. The edge router at the main office
connects to the remote offices using GRE IPSec tunnels. A network administrator notices that a worm that was not detected by the UTM has spread from the
remote sites into the corporate network. The UTM currently has traffic rules applied that should block the port used by the worm. Which of the following steps
would MOST likely correct this issue?

A. Move the UTM onto the LAN side of the network
B. Enable TLS inspection on the UTM
C. Enable stateful inspection on the UTM
D. Configure the UTM to deny encrypted files from being transferred

Answer: C

NEW QUESTION 4
- (Exam Topic 1)
A technician needs to set up a workstation with a private static address. Which of the following IP address would meet this requirement? (Select TWO).

A. 65.78.90.102
B. 127.0.0.1
C. 169.254.90.19
D. 172.16..1.103
E. 172.33.47.100
F. 192.168.1.55

Answer: DE

NEW QUESTION 5
- (Exam Topic 1)
Employees want the ability to use personal devices on the guest network while working out at the company gym. In order to meet the request, which of the
following policies requires employee adherence?

A. AUP
B. SLA
C. NDA
D. MOU

Answer: A

NEW QUESTION 6
- (Exam Topic 1)
A penetration tester has been tasked with reconnaissance to determine which ports are open on the network. Which of the following tasks should be done FIRST?
(Choose two.)

A. Network scan
B. Banner grab
C. Tracert
D. DHCP server check
E. Brute-force attack

Answer: AC
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NEW QUESTION 7
- (Exam Topic 1)
A technician is installing a new wireless badging system on a hospital network. The requirements of the badging system are for it to have its own SSID and low
power levels. The badging system has to cover 99.9% of the hospital. Which of the following is the BEST action to take to meet the system requirements?

A. Install additional WAPs
B. Install external antennas
C. Move the WAPs closer to the more populated area
D. Change the antenna types

Answer: A

NEW QUESTION 8
- (Exam Topic 1)
A network administrator is redesigning network security after an attack. During the attack, an attacker used open cubicle location to attach devices to the network.
The administrator wants to be able to monitor future attack in a safe environment and determine the method of attack. Which of the following should the
administrator do to Best meet this requirement?

A. Create a VLAN for the unused ports and create a honeypot on the VLAN.
B. Install a BPDU guard on switchports and enable STP
C. Create a DMZ for public server and secure a segment for the internal network
D. Install antivirus software and set an ACL on the servers.

Answer: A

NEW QUESTION 9
- (Exam Topic 1)
A network technician needs to set up an access method for Ann, a manager, to work from home. Ann needs to locally mapped corporate resources to perform her
job. Which of the following would provide secure access to the corporate resources?

A. Utilize an SSH connection to the corporate server.
B. Use TFTP to transfer files to corporate resources.
C. Allow RDP through an external firewall.
D. Connect utilizing client-to-site VPN.

Answer: D

NEW QUESTION 10
- (Exam Topic 1)
In a service provider network, a company has an existing IP address scheme. Company A’s network currently uses the following scheme:

Company b uses the following scheme: Subnet 1: 192.168.1.50/28
The network administrator cannot force the customer to update its IP scheme. Considering this, which of the following is the BEST way for the company to connect
these networks?

A. DMZ
B. PAT
C. NAT
D. VLAN

Answer: C

NEW QUESTION 10
- (Exam Topic 1)
Which of the following communication media can carry many voice, data, and video channels simultaneously over multiple frequencies?

A. Broadband
B. Baseband
C. Analog modem
D. CSMA

Answer: A

NEW QUESTION 15
- (Exam Topic 1)
A technician is setting up a public guest network for visitors to access the Internet that must be separate from the corporate network. Which of the following are the
BEST steps for the technician to take with minimum overhead configuration? (Choose two.)

A. Enable SSID broadcasting to identify the guest network
B. Configure visitor devices to use static IP addresses
C. Enable two-factor authentication on visitor devices
D. Configure the access point to use WPA2-AES encryption
E. Ensure the access point is not running in mixed mode

Answer: AB
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NEW QUESTION 16
- (Exam Topic 1)
A technician is troubleshooting network connectivity issue with a remote host. Which of the following tools would BEST between the client and the remote host?

A. tracert
B. ping
C. tcpdump
D. pathping
E. netstate
F. nslookup
G. route

Answer: EF

NEW QUESTION 18
- (Exam Topic 1)
A technician is investigating the cause of a network outage. Which of the following documents should be checked to rule out configuration issues?

A. Change management records
B. Inventory management
C. Network log files
D. Logical diagrams

Answer: A

NEW QUESTION 21
- (Exam Topic 1)
Which of the following are characteristics of jumbo frames? (Choose two.)

A. Commonly used on SAN
B. MTU size greater than 1500
C. MTU size greater than 10000
D. Commonly used on IaaS
E. MTU size greater than 12000

Answer: AB

NEW QUESTION 25
- (Exam Topic 1)
A network technician has to integrate three legacy industrial devices into the existing wireless network. The devices only support 802.11b and TKIP. Which of the
following should the technician do to connect these devices to the wireless network with the restrictive settings while not affecting the performance of the other
users? (Select Two).

A. Create a second SSID that uses WPA personal.
B. Change the encryption to WPA@ personal.
C. Enable MAC filtering.
D. Change the encryption to WPA2 Enterprise.

Answer: D

NEW QUESTION 30
- (Exam Topic 1)
A disgruntled employee executes a man-in-the-middle attack on the company network. Layer 2 traffic destined for the gateway is redirected to the employee’s
computer. This type of attack is an example of:

A. ARP cache poisoning
B. IP spoofing
C. amplified DNS attack
D. evil twin

Answer: A

NEW QUESTION 35
- (Exam Topic 1)
A network technician downloaded new firmware for the company firewall. Which of the following should the network technician verify to ensure the downloaded file
is correct and complete?

A. File hash
B. File date
C. File type
D. File size

Answer: A

NEW QUESTION 36
- (Exam Topic 1)
Which of the following is the correct port number for NTP?
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A. 25
B. 69
C. 123
D. 161

Answer: C

NEW QUESTION 37
- (Exam Topic 1)
A technician needs to upgrade a SOHO wireless router’s firmware. The technician resets the router to factory settings and installs the new firmware. The
technician enters the DHCP information and sets the SSID. Which of the following configurations would provide the MOST protection from advance hackers?

A. Disable the broadcasting of the SSID.
B. Enable WPA2 authentication for all hosts.
C. Use private addressing for the DHCP scope.
D. Install unidirectional antennas.

Answer: B

NEW QUESTION 39
- (Exam Topic 1)
A company dedicates deploy customer –facing, touch-screen kiosks. The kiosks appear to have several open service ports that potentially became compromised.
Which of the following is the MOST effective way to project the kiosk?

A. Install an IDS to monitor all traffic to and from the kiosk.
B. install honeypots on the network to detect and analyze potential kiosks attacks before they occur.
C. Enable switchport security on the ports to which the kiosks are connected to prevent network level attacks.
D. Create a new segment with ACLs, limiting kiosks traffic with the internal network

Answer: A

NEW QUESTION 44
- (Exam Topic 1)
A network technician receives a call from a use who is experiencing network connectivity issues. The network technician questions the user and learns the user
brought in a personal wired router to use multiple computers and connect to the network. Which of the following has the user MOST likely introduced to the
network?

A. Rogue DHCP server
B. Evil twin
C. VLAN mismatch
D. Honeypot

Answer: A

NEW QUESTION 45
- (Exam Topic 1)
Which of the following would allow a device to maintain the same IP address lease based on the physical address of the network card?

A. MAC address reservation
B. Static IP address
C. IP address exclusion
D. Custom DNS server entry

Answer: A

NEW QUESTION 50
- (Exam Topic 1)
A technician is performing a maintenance task on a weekly basis and wants to ensure the task is properly documented and able to be performed by other
technician. Which of the following types of documentation should the technician complete?

A. Standard operating procedure
B. Work order
C. Performance baseline
D. Logical diagram
E. Change management

Answer: A

NEW QUESTION 55
- (Exam Topic 1)
A technician set up a new SOHO network recently. The installed router has four Ethernet ports; however the customer has seven devices that wired connections.
Which of the following should the technician do to BEST meet the customer’s requirements?

A. Install a six-port switch
B. Configure port forwarding on the router
C. Install WAPs near the devices.
D. Configure the switchports as EtherChannel ports.
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Answer: A

NEW QUESTION 60
- (Exam Topic 1)
A network technician is working on a new switch implementation to expand the network. Which of the following is the BEST option to ensure the implementation
goes according to business requirements?

A. AUP
B. NDA
C. SOP
D. SLA

Answer: C

NEW QUESTION 65
- (Exam Topic 1)
A system administrator receives report from users of odd behavior in regard to recently installed server. While reviewing the server network configuration, the
systems administrator does both a forward and a reverse DNS lookup on the host, along with the network adapter configuration.

Which of the following is the problem identified in the output above?

A. There is no reverse DNS entry for this host.
B. The server IP address is incorrectly configured.
C. The DNS lookup entry is incorrectly configured.
D. The reverse DNS entry is pointing to a different host.

Answer: C

NEW QUESTION 67
- (Exam Topic 1)
A network technician is working on a proposal for email migration from an on-premises email system to a vendor-hosted email in the cloud. The technician needs
to explain to management what type of cloud model will be utilized with the cloud-hosted email. Which of the following cloud models should the technician identify
in the proposal?

A. IaaS
B. PaaS
C. SaaS
D. MaaS

Answer: C

NEW QUESTION 70
- (Exam Topic 1)
A network technician wants to remotely and securely access the desktop of a Linux workstation. The desktop is running remote control software without
encryption. Which of the following should the technician use to secure the connection?

A. SSH in tunnel mode
B. RDP set to console connection
C. EAP-PEAP
D. SFTP

Answer: A

NEW QUESTION 73
- (Exam Topic 1)
Which of the following physical security devices is used to detect unauthorized server room access?

A. Access badge
B. Biometrics
C. Smart card
D. Video surveillance
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Answer: D

NEW QUESTION 74
- (Exam Topic 1)
Which of the following are characteristic of jumbo frames? (Select TWO).

A. Commonly used on SAN
B. MTU size greater than 1500
C. MTU size greater than 10000
D. Commonly used on laaS
E. MTU size greater that 12000

Answer: BD

NEW QUESTION 75
- (Exam Topic 1)
An assistant systems analyst reports the following findings of an investigation of slow Internet connections in a remote office to the senior systems analyst:

Which of the following devices is causing the issue?

A. Router
B. Firewall
C. Switch 1
D. Switch 2

Answer: B

NEW QUESTION 80
- (Exam Topic 1)
A network technician is attempting to troubleshoot a connectivity issue. The issue is only reported during the evening hours, and only a single workstation loses
connectivity. Which of the following is the MOST likely cause of the issue?

A. The router has time-based ACL applied for the network segment.
B. A light source is creating EMI interface, affecting the UTP.
C. Nightly backups are consuming excessive bandwidth.
D. The user has violated the AUP, and Internet access has been restricted

Answer: D

NEW QUESTION 82
- (Exam Topic 1)
Which of the following can be done to implement network device hardening (Select TWO).

A. Implement spanning tree
B. Perform VLAN hopping
C. Patch and update
D. Perform backups
E. Enable port mirroring
F. Change default admin password

Answer: CF

Explanation: 
Network devices come with default credentials, the username and password that enables you to log into the device for configuration. Changing default credentials
should be the first step in hardening a new device. As with any other system, avoiding common passwords adds security.
Keep network devices up to date. That means upgrading firmware, patching and updating as necessary to close any security gaps exposed over time.
Services on network devices like routers include common things, like Telnet and HTTP access; and also things you don’t normally see, like TCP and UDP small
services, debugging and testing tools that primarily use ports 20 and lower. If enabled, these services can be used to launch DoS and other attacks. All modern
Cisco devices have these disabled; Cisco’s hardening rules insist on disabling unnecessary services.
Using secure protocols hardens network devices. Don’t use Telnet to access a managed switch or router, for example, but use SSH so that the communication is
encrypted.
Disabling unused ports on network devices enhances port security for access control. This includes standard IP ports and device ports, both physical and virtual
for the latter.

NEW QUESTION 87
- (Exam Topic 1)
The server team has just installed an application across three different servers. They are asking that all requests to the application are spread evenly across the
three servers. Which of the following should the network team implement to fulfil the request?

A. Proxy server
B. UTM appliance
C. Content filter
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D. Load balancer

Answer: D

NEW QUESTION 89
- (Exam Topic 1)
Under which of the following layers of the OSI do ATM cells operate?

A. Data link
B. Network
C. Session
D. Transport
E. Presentation

Answer: A

NEW QUESTION 93
- (Exam Topic 1)
A network administrator wants to ensure sensitive data is not exfiltrated from the system electronically. Which of the following should be implemented?

A. DLP
B. AUP
C. NDA
D. SLA

Answer: A

NEW QUESTION 98
- (Exam Topic 1)
In which of the following scenarios should a technician use a cross-over cable to provide connectivity?

A. PC to switch
B. Switch to AP
C. Router to switch
D. Router to modem
E. PC to PC

Answer: E

NEW QUESTION 103
- (Exam Topic 1)
A technician is working on a new machine that has been procured for testing and development. The machine will run a hypervisor and host several operating
systems of various types so the development team can test the company’s applications in a variety of environments. The technician wants the virtual machines to
be available to communicate with each other without leaving the hypervisor. Which of the following is the BEST solution to the problem?

A. The technician should connect the machine to its own separate switch.
B. The technician should add a route in each virtual machine to the default gateway.
C. The technician should configure a virtual switch.
D. The technician should set up individual routes between the machines.

Answer: C

NEW QUESTION 106
- (Exam Topic 1)
A junior technician is setting up a voice control device so the Chief Execute Officer (CEO) will be to control various things in the office. Of which of the following
types of lot technologies is this an example?

A. LAN
B. WAN
C. SAN
D. PAN

Answer: D

NEW QUESTION 108
- (Exam Topic 1)
Which of the following is the number of broadcast domain that are created when using an unmanaged 12-port switch?

A. 1
B. 2
C. 6
D. 12

Answer: B

NEW QUESTION 113
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- (Exam Topic 1)
A network technician is diagnosing a time-out issue generated from an end user’s web browser. The web browser issues standard HTTP get and post commands
to interact with the website. Given this information, the technician would like to analyze the entire TCP handshake of the HTTP requests offline. Which of the
following tools would allow the technician to view the handshake?

A. Packet analyzer
B. Port analyzer
C. SNMP traps
D. Spectrum analyzer

Answer: A

NEW QUESTION 116
- (Exam Topic 1)
Which of the following ports should a network technician open on a firewall to back up the configuration and operating system files of a router to a remote server
using the FASTES method possible?

A. UDP port 22
B. TCP port 22
C. TCP port 25
D. UDP port 53
E. UDP port 69

Answer: E

NEW QUESTION 120
- (Exam Topic 1)
Which of the following security mechanisms dynamically assigns a Layer 2 address and restricts traffic only to that Layer 2 address?

A. Sticky MAC
B. 802.1x
C. ACL
D. NAC

Answer: A

NEW QUESTION 125
- (Exam Topic 1)
A network administrator is setting up a web-based application that needs to be continually accessible to the end users. Which of the following concepts would
BEST ensure this requirement?

A. High availability
B. Snapshots
C. NIC teaming
D. Cold site

Answer: A

NEW QUESTION 130
- (Exam Topic 1)
An office network consists of one two-port router connected to a 12-port switch. A four-port hub is also connected to the switch. On this particular network, which of
the following is the number of collision domain that exist?

A. 3
B. 12
C. 13
D. 14
E. 15

Answer: D

NEW QUESTION 132
- (Exam Topic 1)
A junior network technician is setting up a new email server on the company network. Which of the following default ports should the technician ensure is open on
the firewall so the new email server can relay email?

A. 23
B. 25
C. 110
D. 143

Answer: B

NEW QUESTION 135
- (Exam Topic 1)
A network administrator configures a router with the following IP address information: Gigabit Ethernet 1 Interface: 10.10.0.1/24
Serial 0 Interface: 10.10.0.253/30
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Clients are connected to a switch on the gigabit Ethernet interface; the ISP is connected to the Serial 0 interface. When the router configuration is complete and
client devices are reconfigured, all clients report that they are unable to connect to the Internet. Which of the following is the MOST likely reason?

A. The router was configured with an incorrect IP address
B. The router was configured with an incorrect default gateway
C. The router was configured with an incorrect subnet mask
D. The router was configured with an incorrect loopback address

Answer: C

NEW QUESTION 137
- (Exam Topic 1)
The process of attempting to exploit a weakness in a network after being given permission by the company is known as:

A. penetration testing
B. vulnerability scanning
C. reconnaissance
D. social engineering

Answer: A

NEW QUESTION 138
- (Exam Topic 1)
Which of the following should a technician investigate when using a network baseline to troubleshoot?

A. Tracing a network wire connectivity issue from the datacenter to a host.
B. Determining if the server performance is degraded.
C. Changes that have been made to the network configuration.
D. Location of networking equipment in a rack.

Answer: B

NEW QUESTION 143
- (Exam Topic 1)
Which of the following WAN technologies utilizes the concept of virtual circuits and point-multipoint connections?

A. ISDN
B. MPLS
C. PRI
D. Broadband cable
E. Frame relay

Answer: E

NEW QUESTION 146
- (Exam Topic 1)
After a server outage, a technician discovers that a physically damaged fiber cable appears to be the problem. After replacing the cable, the server will still not
connect to the network. Upon inspecting the cable at the server end, the technician discovers light can be seen through one of the two fiber strands. Which of the
following should the technician do FIRST to reconnect the server to the network?

A. Reverse the fiber strands of the cable and reconnect them to the server
B. Use a TDR to test both strands of a new replacement cable prior to connecting it to the server
C. Replace the server’s single-mode fiber cable with multimode fiber
D. Move the fiber cable to different port on the switch where both strands function

Answer: A

NEW QUESTION 147
- (Exam Topic 1)
A network security technician observes multiple attempts to scan network hosts and devices. All the attempts originate from a single host on the network. Which of
the following threats is MOST likely involved?

A. Smurf attack
B. Rogue AP
C. Compromised system
D. Unintentional DoS

Answer: C

NEW QUESTION 148
- (Exam Topic 1)
Ann, a network technician, has just installed a fiber switch in a datacenter. To run the fiber cabling, Ann plans the cable route over the top of the rack using the
cable trays, down to the switch, coiling up any excess cable. As Ann configures the switch, she notices several messages in the logging buffer stating the receive
signal of the SFP is too weak. Which of the following is MOST likely the cause of the errors in the logging buffer?

A. Bend radius exceeded
B. Fiber cable mismatch
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C. Fiber type mismatch
D. Bad fiber switch

Answer: A

NEW QUESTION 149
- (Exam Topic 1)
An office user cannot access local network drives but has full access to the Internet. A technician
troubleshoots the issue and observes the following output of the ipconfig command:

Which of the following would MOST likely allow the network drives to be accessed?

A. Update the WLAN adapter driver
B. Disable the WLAN adapter
C. Check the wireless DHCP configuration
D. Disable the LAN adapter

Answer: B

NEW QUESTION 150
- (Exam Topic 1)
Based on networks 10.8.16.0/22 and 10.8.31.0/21, which of the following is the BEST summarized CIDR notation?

A. 10.8.0.0/16
B. 10.8.0.0/19
C. 10.8.0.0/20
D. 10.0.0.0/24

Answer: A

NEW QUESTION 152
- (Exam Topic 1)
A recently constructed building makes use of glass and natural light. Users in the building are reporting poor cellular connectivity and speeds. Which of the
following is MOST likely the cause?

A. Absorption
B. Channel overlap
C. Reflection
D. Frequency mismatch

Answer: C

NEW QUESTION 157
- (Exam Topic 1)
A network administrator wants to increase the confidentiality of the system by hardening the authentication process. Currently, the users log in using usernames
and passwords to access the system. Which of the following will increase the authentication factor to three?

A. Adding a fingerprint reader to each workstation and providing a RSA authentication token
B. Adding a fingerprint reader and retina scanner
C. Using a smart card and RSA token
D. Enforcing a stronger password policy and using a hand geometry scan

Answer: A

NEW QUESTION 162
- (Exam Topic 1)
A network administrator wants to employ a username and password authentication system for guest WiFi. Which of the following is the BEST option to provide this
type of authentication?

A. port security
B. MAC filtering
C. Network access control
D. Captive portal
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Answer: D

NEW QUESTION 165
- (Exam Topic 1)
A technician is downloading an ISO from a vendor’s website. To ensure the integrity of the download, which of the following should be verified?

A. File size
B. Vendor URL
C. File hashing
D. Encryption

Answer: C

NEW QUESTION 166
- (Exam Topic 1)
A small town is attempting to attract tourists who visit larger nearby cities. A network engineer is asked to implement a network encompassing the five-block town
center and nearby businesses. The inclusion of smartphones and portable devices is crucial to the plan. Which of the following is the network engineer being
asked to implement?

A. LAN
B. PAN
C. MAN
D. WAN

Answer: C

NEW QUESTION 169
- (Exam Topic 1)
In which of the following ways does a DDoS attack differ from a spoofing attack?

A. DDoS attacks target multiple networks
B. Spoofing attacks originate from a single host
C. DDoS attacks are launched from multiple hosts
D. Spoofing attacks require physical presence

Answer: C

NEW QUESTION 170
- (Exam Topic 1)
An analyst is developing a proof of concept of a wireless-based attack as part of a penetration test against an organization’s network. As part of the attack, the
analyst launches a fake access point matching the SSID of the organization’s guest access network. When a user connects to the fake access point, the analyst
allows the traffic to flow through the access point to the legitimate site while the data traversing the network is logged for latest analysis and exploitation. Which of
the following attacks has the analyst successfully performed in this scenario?

A. Bluesnarfing
B. Session hijacking
C. MAC spoofing
D. VLAN hopping
E. Man-in-the-middle

Answer: E

NEW QUESTION 172
- (Exam Topic 1)
A technician wants to prevent an unauthorized host from connecting to the network via Ethernet. Which of the following is a Layer 2 access control the technician
should implement?

A. Access control lists
B. Captive portal
C. WPA2
D. Port security

Answer: D

NEW QUESTION 173
- (Exam Topic 1)
A network technician needs to install a new access switch. After installing the new switch, the technician beings to move connections from the old switch to the
new switch. The old switch used a GBIC connectors, and the new switch uses an SEF LC with LC connectors. After connecting the SC connector to the SC-to-LC
adapter abd plugging it to the switch, the link does not come up as expected. Which of the following should a network technician perform NEXT?

A. Replace SEP with a new one.
B. Fall back to the switch.
C. Transpose the fiber pairs.
D. Replace multimode with single-mode cable

Answer: C
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NEW QUESTION 174
- (Exam Topic 1)
As part of a transition from a static to a dynamic routing protocol on an organization’s internal network, the routing protocol must support IPv4 and VLSM. Based
on those requirements, which of the following should the network administrator use? (Choose two.)

A. OSPF
B. IS-IS
C. RIPv1
D. BGP
E. VRRP

Answer: AB

NEW QUESTION 178
- (Exam Topic 1)
A technician is replacing a failed SOHO router for a customer who has an existing, cable modern, and static IP address. The user has a web server that faces the
Internet so users can visit and leave comments. Which of the following BEST describes the correct configuration for this customer’s requirements?

A. The modern is placed in bridge mode, the router is placed behind the modern, and the web server is placed behind the router.
B. The router is place in bridge in mode, the modern is placed behind the router, and the web server ids placed behind the modern.
C. the web server is placed in bridge mode, the router is placed behind the server, and the modern is placed behind the router.
D. The switch is placed in bridge mode, the modern is placed behind the switch, and the router is placed behind the modern.

Answer: A

NEW QUESTION 183
- (Exam Topic 1)
Which of the following VPN protocols establishes a secure session that can be initiated using a browser?

A. IPSec
B. SSL VPN
C. PTP
D. PPTP

Answer: B

NEW QUESTION 184
- (Exam Topic 1)
A network technician is configuring a wireless network at a branch office. Users at this office work with large files and must be able to access their files on the
server quickly. Which of the following 802.11 standards provides the MOST bandwidth?

A. a
B. ac
C. g
D. n

Answer: B

NEW QUESTION 185
- (Exam Topic 1)
A network technician performs a wireless site survey at a company building and identifies that the cafeteria is not covered by a wireless signal. The cafeteria is
located in a medium-size, square-shaped room. Which of the following types of WAP antenna should the technician install in the center of the cafeteria to provide
the BEST coverage?

A. Unidirectional
B. Parabolic
C. Omnidirectional
D. Yagi

Answer: C

NEW QUESTION 189
- (Exam Topic 1)
A telecommunications provider has just deployed a new OC-12 circuit at a customer site. While the circuit showed no errors from the provider end to the
customer’s demarcation point, a network administrator is trying to determine the cause of dropped packets and errors on the circuit. Which of the following should
the network administrator do to rule out any problems at Layer 1? (Choose two.)

A. Use a loopback at the demark and router, and check for a link light
B. Use an OTDR to validate the cable integrity
C. Use a pinout tester to validate the cable integrity
D. Use a multimeter to validate the cable integrity
E. Check for any devices that may be causing EMI on the cable
F. Clean the cables to be sure they are free of dust and debris

Answer: AB

NEW QUESTION 194
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- (Exam Topic 1)
A network engineer is configuring wireless access for guests at an organization. Access to other areas in the organization should not be accessible to guests.
Which of the following represents the MOST secure method to configure guest access to the wireless network?

A. Guests should log into a separate wireless network using a captive portal
B. Guests should log into the current wireless network using credentials obtained upon entering the facility
C. The existing wireless network should be configured to allow guest access
D. An additional wireless network should be configured to allow guest access

Answer: A

NEW QUESTION 198
- (Exam Topic 1)
Which of the following DNS record types allows IPv6 records to be resolved to DNS names?

A. PTR
B. A
C. AAAA
D. SRV

Answer: C

NEW QUESTION 199
- (Exam Topic 1)
When choosing a type of storage that integrates with the existing network infrastructure, the storage must be easily configurable to share files and can
communicate with all existing clients over TCP/IP. Which of the following is the BEST technology for the network administrator to implement?

A. iSCSI
B. Fibre Channel
C. NAS
D. DAS

Answer: C

NEW QUESTION 202
- (Exam Topic 1)
AChief Information Officer (CIO) wants to move some IT services to a cloud service offering. However, the network administrator still wants to be able to control
some parts of the cloud service’s networking components. Which of the following should be leveraged to complete this task?

A. IaaS
B. PaaS
C. SaaS
D. DaaS

Answer: B

NEW QUESTION 206
- (Exam Topic 1)
Which of the following protocols can be both connection-oriented and connectionless?

A. 20 FTP
B. 53 DNS
C. 67 DHCP
D. 80 HTTP

Answer: B

NEW QUESTION 211
- (Exam Topic 1)
A network technician is assisting the security team with some traffic captures. The security team wants to capture all traffic on a single subnet between the router
and the core switch. To do so, the team must ensure there is only a single collision and broadcast domain between the router and the switch from which they will
collect traffic. Which of the following should the technician install to BEST meet the goal?

A. Bridge
B. Crossover cable
C. Hub
D. Media converter

Answer: C

NEW QUESTION 215
- (Exam Topic 1)
Joe, an employee at a large regional bank, wants to receive company email on his personal smartphone and table: To authenticate on the mail server, he must
first a custom security application on those mobile services. Which of the following policies would BEST enforce this requirement?

A. Incident response policy
B. BYOD policy
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C. DLP policy
D. Remote access policy

Answer: B

NEW QUESTION 217
- (Exam Topic 1)
Client PCs are unable to receive addressing information from a newly configured interface on a router. Which of the following should be added to allow the clients
to connect?

A. DHCP lease me
B. IP helper
C. TTL
D. DNS record type

Answer: B

NEW QUESTION 221
- (Exam Topic 1)
A technician has been alerted of incoming HTTP traffic on the LAN segment that should not contain any web server’s The technician has the IP address of the
destination host and wants to determine if the socket for HTTP is open. Which of the following should the technician perform?

A. Baseline assessment
B. packet analysis
C. portscan
D. Patch-level assessment.

Answer: C

NEW QUESTION 223
- (Exam Topic 1)
A network technician is considering opening ports on the firewall for an upcoming VoIP PBX implementation. Which of the following protocols is the technician
MOST likely to consider? (Choose three.)

A. SIP
B. NTP
C. H.323
D. SMB
E. ICMP
F. RTP
G. IPSec
H. RDP

Answer: ACF

NEW QUESTION 224
- (Exam Topic 1)
A network engineer is designing a new network for a remote site. The remote site consists of ten desktop computers, ten VoIP phones, and two network printers.
In addition, two of the desktop computers at the remote site will be used by managers who should be on a separate network from the other eight computers. Which
of the following represents the BEST configuration for the remote site?

A. One router connected to one 24-port switch configured with three VLANS: one for the manager’s computers and printer, one for the other computers and
printer, and one for the VoIP phones
B. Two routers with each router connected to a 12-port switch, with a firewall connected to the switch connected to the manager’s desktop computers, VoIP
phones, and printer
C. One router connected to one 12-port switch configured for the manager’s computers, phones, and printer, and one 12-port switch configured for the other
computers, VoIP phones, and printer
D. One router connected to one 24-port switch configured with two VLANS: one for the manager’s computers, VoIP phones, and printer, and one for the other
computers, VoIP phones, and printer

Answer: A

NEW QUESTION 225
- (Exam Topic 1)
A company is allowing its employees to use their personal computers, tables, and loT devices while at work. However, there are rules and guidelines to which
employees must adhere. Which of the following documents applies to these employees?

A. NDA
B. SOP
C. BYOD
D. SLA

Answer: C

NEW QUESTION 229
- (Exam Topic 1)
A security guard notices an unauthorized individual, who is dressed like technician, has entered a secure area of the hospital with a large group. Which of the
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following security attacks is taking place?

A. Evil twin
B. Social engineering
C. Insider threat
D. Phishing

Answer: B

Explanation: 
Social engineering attacks aren’t considered hacking—at least in the classic sense of the word—although the goals are the same. Social engineering is where
people attack an organization through the people in the organization or physically access the organization to get the information they need.

NEW QUESTION 234
- (Exam Topic 1)
Which of the following devices, if implemented, would result in decreased administration time of an 802.11 network running centralized authentication services?
(Choose two.)

A. VPN concentrator
B. Proxy server
C. Wireless controller
D. RADIUS server
E. Multilayer switch

Answer: CD

NEW QUESTION 237
- (Exam Topic 1)
A network technician needs to connect to a remote router to modify the configuration, Which of the following method should the technician use to connected to the
device security? (Select TWO)

A. Telnet
B. VNC
C. SSH
D. RDP
E. HTTPS
F. TFTP

Answer: BC

NEW QUESTION 240
- (Exam Topic 1)
Which of the following would allow a network technician to access files on a remote system? (Select TWO).

A. FTP
B. TFTP
C. VLSM
D. SIP
E. SMTP
F. IMAP

Answer: AB

NEW QUESTION 242
- (Exam Topic 1)
Which of the following physical security controls is MOST likely to be susceptible to a false positive?

A. Identification card
B. Biometric device
C. Proximity reader
D. Video camera

Answer: C

NEW QUESTION 247
- (Exam Topic 1)
A network technician has recently installed new VoiP phones at all employees’ desks to support a new SIP cloud solution. However, the technician is unable to
make a call from the device after testing. Which of the following should the technician verify?

A. TCP 433 is allowed.
B. UDP 1720 is allowed.
C. UDP 50860 is allowed.
D. UDP 5061 is allowed.
E. TCP 8080 is allowed.
F. TCP 8181 is allowed.

Answer: CD
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NEW QUESTION 252
- (Exam Topic 1)
Your company recently purchased a new building down the street from the existing office. For each of the tasks below, select the appropriate antenna type and
encryption object for all wireless access point (AP).
1. Create an encrypted wireless connection between the two buildings that BEST controls signal propagation, while maximizing security.
2. Restrict the wireless signal generated by the access points (APs) inside Building 1, so that it minimizes broadcast beyond the building.
3. Maximize wireless coverage inside Building 1.
4. Building 1’s internal wireless network is for visitors only and must not require any special configuration on the visitor’s device to connect.

Instructions: When you have completed the simulation, select the Done button to submit. 

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
Answer is as below in image.

NEW QUESTION 253
- (Exam Topic 1)
Which of the following will listen on the line to ensure there is no traffic transmitting and implement a back-off timer if a collision occurs?

A. CSMA/CD
B. CSMA/CA
C. MPLS
D. OSPF

Answer: A

NEW QUESTION 256
- (Exam Topic 1)
A single PRI can deliver multiple voice calls simultaneously using which of the following Layer 1 technologies?
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A. Time division multiplexing
B. Analog circuit switching
C. CSMA/CD
D. Time division spread spectrum

Answer: A

NEW QUESTION 260
- (Exam Topic 1)
A network technician is building a network for a small office. The office currently has cable TV and now requires access to the Internet without adding any cabling
other than what is already in place. Which of the following solutions should the technician install to meet these requirements?

A. DOCSIS modem
B. Wireless router
C. DSL modem
D. Access point

Answer: A

NEW QUESTION 263
- (Exam Topic 2)
Tenants access multiple wireless networks in a building. Users report intermittent connectivity. Which of the following is the MOST likely cause of the problem?

A. The channels are overlapping with other wireless networks and should be changed.
B. The SSIDs are incompatible and should be renamed.
C. The users have incompatible wireless network cards and should upgrade.
D. The default idle period for logoff is too short and should be changed to a longer limit.

Answer: A

NEW QUESTION 265
- (Exam Topic 2)
Which of the following uses types and codes rather than ports?

A. EIGRP
B. ICMP
C. UDP
D. IPv6

Answer: B

NEW QUESTION 268
- (Exam Topic 2)
Which of the following is an IPv6 address?

A. 00:14:38:05:7B:E5
B. 10.10.1.1
C. 192.168.1.1
D. 2001:cdba::3257:9652

Answer: D

NEW QUESTION 272
- (Exam Topic 2)
Which of the following connector types would Sandy, a network technician, use to connect a serial cable?

A. RJ-11
B. BNC
C. LC
D. DB-9

Answer: D

NEW QUESTION 273
- (Exam Topic 2)
Jeff, an administrator, has just finished installing a new switch and connected two servers with IPs of 192.168.105.20 and .30. The servers are able to
communicate with each other, but are unable to reach the Internet. Jeff sees the following information in the switch configuration:
interface VLAN 105
IP address 192.168.105.5 255.255.255.0
Jeff is able to ping the router at 192.168.105.1 from the switch. Which of the following is the MOST likely cause of the problem?

A. The subnet mask is incorrect.
B. A routing loop has occurred.
C. Jeff used a crossover cable to connect the switch to the gateway.
D. The server is missing default-gateway information.

Answer: D
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NEW QUESTION 274
- (Exam Topic 2)
Which of the following mediums is circuit switched?

A. PSTN
B. ATM
C. Frame relay
D. MPLS

Answer: A

NEW QUESTION 278
- (Exam Topic 2)
Which of the following default ports would need to be open on a firewall to allow remote desktop access?

A. 143
B. 443
C. 3389
D. 8080

Answer: C

NEW QUESTION 283
- (Exam Topic 2)
Which of the following is a secure way to connect to a device?

A. RSH
B. TFTP
C. SNMPv2
D. SFTP

Answer: D

NEW QUESTION 286
- (Exam Topic 2)
A company has just installed wireless in their office. In one corner of the office building users are not able to establish a connection. Which of the following can be
changed on the AP to help resolve this issue?

A. SSID
B. Channels
C. Signal strength
D. Encryption

Answer: C

NEW QUESTION 290
- (Exam Topic 2)
Use of group accounts should be minimized to ensure which of the following?

A. Password security
B. Regular auditing
C. Baseline management
D. Individual accountability

Answer: D

NEW QUESTION 291
- (Exam Topic 2)
Which of the following devices should be installed on a network to monitor the presence of and actively defend against attacks?

A. An IPS
B. A protocol analyzer
C. A traffic shaper
D. An IDS

Answer: A

NEW QUESTION 296
- (Exam Topic 2)
Which of the following cables will MOST likely be used to connect to a satellite dish?

A. RG-6
B. CAT5e
C. Fiber
D. CAT6
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Answer: A

NEW QUESTION 301
- (Exam Topic 2)
Which of the following protocols is used to transmit outgoing email?

A. RDP
B. NTP
C. POP3
D. SMTP

Answer: D

NEW QUESTION 306
- (Exam Topic 2)
Which of the following uses certificates as a form of security?

A. Kerberos
B. LDAP
C. PKI
D. CHAP

Answer: C

NEW QUESTION 307
- (Exam Topic 2)
Which of the following uses eight groups of characters for addressing?

A. MAC
B. IPv4
C. IPv6
D. DHCP

Answer: C

NEW QUESTION 312
- (Exam Topic 2)
Which of the following is used to assign an IP address to a device?

A. DHCP
B. NTP
C. DNS
D. RADIUS

Answer: A

NEW QUESTION 315
- (Exam Topic 2)
Which of the following is a proprietary routing protocol?

A. RIP
B. EIGRP
C. OSPF
D. BGP

Answer: B

NEW QUESTION 317
- (Exam Topic 2)
Privilege creep among long-term employees can be mitigated by which of the following procedures?

A. User permission reviews
B. Mandatory vacations
C. Separation of duties
D. Job function rotation

Answer: A

NEW QUESTION 319
- (Exam Topic 2)
Which of the following protocols are used to connect devices in a secure manner? (Select TWO).

A. TELNET
B. SSH
C. RDP
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D. HTTP
E. DNS
F. FTP

Answer: BC

NEW QUESTION 321
- (Exam Topic 2)
Which of the following will allow multiple frequencies to be combined?

A. WiMAX
B. MPLS
C. MIMO
D. Channel bonding

Answer: D

NEW QUESTION 326
- (Exam Topic 2)
Which of the following routing protocols relies on hop count as its ONLY metric?

A. BGP
B. EIGRP
C. OSPF
D. RIP

Answer: D

NEW QUESTION 331
- (Exam Topic 2)
Jeff, a technician, has been asked to add a subnet to the company's LAN. Which of the following interfaces on the router will be modified?

A. FastEthernet 0/0
B. AUX 0
C. Console 0
D. Serial 0/0/0

Answer: A

NEW QUESTION 332
- (Exam Topic 2)
A company has a large number of employees that need VPN access from home. Which of the following is the BEST solution for deploying and managing the
remote access?

A. Site-to-site VPN
B. Network-based firewall
C. SSL VPN
D. Host-based firewall

Answer: C

NEW QUESTION 336
- (Exam Topic 2)
A user is unable to open up websites on the Internet from a browser. The administrator determines that the workstation can ping its local gateway, but not the
remote web server. At which of the following layers of the OSI model does the problem MOST likely exist?

A. Data link
B. Network
C. Session
D. Physical

Answer: B

NEW QUESTION 338
- (Exam Topic 2)
Which of the following is the default subnet mask for a Class B address?

A. 255.0.0.0
B. 255.255.0.0
C. 255.255.255.0
D. 255.255.255.255

Answer: B

NEW QUESTION 340
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- (Exam Topic 2)
Kim, a user, took a laptop on vacation and made changes to the configuration in order to use the device at the hotel. She can reach the Internet, but cannot access
any internal network resources.
Which of the following is the MOST likely reason?

A. Incorrect DNS
B. Incorrect subnet mask
C. Duplicate IP address
D. Incorrect SSID

Answer: A

NEW QUESTION 343
- (Exam Topic 2)
An administrator is receiving reports from an executive that the executive's wireless access point loses the signal frequently, even though the WAP is on the
executive's desk. The office contains four other 802.11n access points. Which of the following would MOST likely correct interference problems in the executive's
office?

A. Turn off SSID broadcasting for the executive's access point
B. Replace the 802.11n access point in the office with an 802.11a access point.
C. Change the channel on the access point to channel 11.
D. Turn off as many lights in the executive's office as possible to reduce interference.

Answer: C

NEW QUESTION 348
- (Exam Topic 2)
A pest control contractor attempts to gain access to the datacenter; however, the manager on duty notes that a pest control inspection was not on the schedule.
Which of the following attacks is in progress?

A. Phishing
B. Social engineering
C. Man-in-the-middle
D. Smurfing

Answer: B

NEW QUESTION 349
- (Exam Topic 2)
Please refer to the attached exhibit. Which of the following types of configuration management documentation is represented?

A. Network security policy
B. Network baseline
C. Logical network diagram
D. Wiring schematic

Answer: C

NEW QUESTION 354
- (Exam Topic 2)
Which of the following default services uses TCP/UDP port 88?
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A. LDAP
B. IGMP
C. HTTP
D. Kerberos

Answer: D

NEW QUESTION 359
- (Exam Topic 2)
Which of the following allows a technician to gather information about the operating system?

A. Domain services
B. Fingerprinting
C. Countermeasures
D. Reconnaissance

Answer: B

NEW QUESTION 364
- (Exam Topic 2)
Which of the following WAP security features offers the STRONGEST encryption?

A. WPA
B. WPA2
C. WEP
D. Hidden SSID

Answer: B

NEW QUESTION 366
- (Exam Topic 2)
A new firewall was recently installed blocking SMTP traffic. As a result, no one has Internet access. Which of the following has MOST likely occurred?

A. Port security is blocking all traffic.
B. An IDS is blocking all traffic.
C. Implicit deny is blocking all traffic.
D. SMTP is blocking all traffic.

Answer: C

NEW QUESTION 370
- (Exam Topic 2)
A VoIP line will MOST likely have which of the following connectors?

A. RJ-11
B. DB-25
C. BNC
D. RJ-45

Answer: D

NEW QUESTION 373
- (Exam Topic 2)
Which of the following ports would Zach, a technician, need to open on a firewall to allow SSH on the default port?

A. 20
B. 21
C. 22
D. 23

Answer: C

NEW QUESTION 374
- (Exam Topic 2)
A firewall that operates at Layer 7 of the OSI model is known as a(n):

A. Circuit gateway
B. Packet filter
C. Application level
D. Redundant firewall

Answer: C

NEW QUESTION 378
- (Exam Topic 2)
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A technician recently fixed a computer with several viruses and spyware programs on it and notices the Internet settings were set to redirect all traffic through an
unknown proxy. This type of attack is known as which of the following?

A. Phishing
B. Social engineering
C. Man-in-the-middle
D. Shoulder surfing

Answer: C

NEW QUESTION 382
- (Exam Topic 2)
Which of the following DNS records would allow for a website to have more than one FQDN?

A. TXT
B. PTR
C. MX
D. CNAME

Answer: D

NEW QUESTION 383
- (Exam Topic 2)
Which of the following commands will display the associated IP address of a network adapter in Windows and Linux environments? (Select TWO).

A. dig
B. nslookup
C. nbstat
D. ifconfig
E. ipconfig

Answer: DE

NEW QUESTION 387
- (Exam Topic 2)
A network technician needs to address bandwidth issues on the wireless network. There are currently four 802.11n access points. The technician would like to
increase the bandwidth. Which of the following would be the BEST solution?

A. Disable SSID
B. Channel bonding
C. MIMO
D. Increase the signal

Answer: B

NEW QUESTION 391
- (Exam Topic 3)
Which of the following BEST describes the difference between layer 2 switching and layer 2 routing?

A. Switching moves packets between hosts on different subnets, and routing moves packets between hosts on the same subnet.
B. Routing moves packets between hosts on different subnets, and switching moves packets between hosts on the same subnet.
C. Both routing and switching move packets between hosts on the same subnet, but routing does so at a faster pace.
D. Both routing and switching move packets between hosts on different subnets, but switching does so at a faster pace.

Answer: B

NEW QUESTION 394
- (Exam Topic 3)
A user has no network connectivity. Jeff, the network technician, is unable to locate the CAT5e cable from the user at the IDF. Which of the following tools would
be used to assist Jeff in locating the CAT5e cable?

A. Butt set
B. Punch down tool
C. Toner probe
D. Protocol analyzer

Answer: C

NEW QUESTION 397
- (Exam Topic 3)
A network administrator notices that all of the company switches are running at capacity on a given day, which is abnormal according to network baselines taken
recently. Which tool would BEST allow the administrator to inspect what type of traffic is on the network?

A. Wire tap
B. Network sniffer
C. Load balancing appliance
D. NIPS
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Answer: B

NEW QUESTION 399
- (Exam Topic 3)
Which of the following problems is MOST likely to arise when configuring an IPv6 over IPv4 tunnel?

A. Routing loop
B. MTU black hole
C. Framing errors
D. SYN flood

Answer: B

NEW QUESTION 401
- (Exam Topic 3)
A company only wants preapproved laptops to be able to connect to a wireless access point. Which of the following should be configured?

A. SSID disable
B. ACL rules
C. WPA encryption
D. MAC filtering

Answer: D

NEW QUESTION 403
- (Exam Topic 3)
An administrator hosts all of the company's virtual servers internally. In the event of total server failure, the server images can be restored on a cloud provider and
accessed through the VPN.
Which of the following cloud services is the administrator using?

A. Community PaaS
B. Public Iaas
C. Hybrid Saas
D. Private Iaas

Answer: B

NEW QUESTION 404
- (Exam Topic 3)
A customer has not been using security on a wireless network and has recently received many attacks through this vector.
Which of the following would be the MOST secure way to harden this wireless network?

A. Disable the SSID
B. WPA encryption
C. VLAN implementation
D. WEP encryption

Answer: B

NEW QUESTION 406
- (Exam Topic 3)
Which of the following should be implemented in a networked environment carrying teleconferencing packets?

A. L2TP
B. SSH
C. QoS
D. SNMP

Answer: C

NEW QUESTION 411
- (Exam Topic 3)
When Jeff, a technician, is troubleshooting a problem, which of the following is the NEXT step after verifying full system functionality?

A. Establish a plan of action to resolve the problem and identify potential effects.
B. Implement the solution.
C. Establish a theory of probable cause.
D. Document findings, actions, and outcomes.

Answer: D

NEW QUESTION 415
- (Exam Topic 3)
Which of the following DNS records allows for reverse lookup of a domain?
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A. PTR
B. AAAA
C. A
D. MX

Answer: A

NEW QUESTION 418
- (Exam Topic 3)
Which of the following is an example of two factor authentication?

A. Password, device certificate and PIN
B. SSL web server certificate and password
C. User password and administrator password
D. Password and hardware token OTP

Answer: D

NEW QUESTION 419
- (Exam Topic 3)
Which of the following tools can the technician use to analyze TCP/IP packets when trying to determine a connection problem within a subnet?

A. Wire mapper
B. Protocol analyzer
C. Cable tester
D. SYSLOG server

Answer: B

NEW QUESTION 424
- (Exam Topic 3)
A user is unable to connect to a server in another building. A technician is troubleshooting the issue and determines the following:
1) Client PC 1 has an IP address if 192.168.10.25/25
2) PC 1 can successfully ping its gateway of 192.168.10.1/25 which is an interface of router A
3) Server A is named 'BLDGBFILESRVR01' and has an IP address of 192.168.10.145/25
4) PC 2 with an IP address of 192.168.10.200/25 can successfully ping server A
However, when PC 1 pings server A, it receives a destination host unreachable responds. Which of the following is the MOST likely cause?

A. Link from touter A to PC 1 are on different subnets
B. Link from router A to server A is down
C. Link from PC 1 to router A has duplex issues
D. Link from server A top PC 2 is down

Answer: A

NEW QUESTION 425
- (Exam Topic 3)
An administrator is setting up a secure wireless network. The administrator decides to support 802.11n and 802.11g with a WPA2 pre-shared key. Users are given
the SSID with the pre-shared key, but the administrator has disabled the SSID broadcast and MAC filtering. Some users have reported connection issues. Which
of the following would MOST likely resolve the users' connection issues?

A. Limit the devices to 802.11n only.
B. Enable the SSID broadcast.
C. Enable MAC filtering.
D. Use a WEP 128-bit key.

Answer: B

NEW QUESTION 428
- (Exam Topic 3)
Which of the following security threats relies primarily on user deception and misinformation?

A. Rogue access points
B. DoS attacks
C. Man-in-the-middle attacks
D. Phishing

Answer: D

NEW QUESTION 431
- (Exam Topic 3)
A technician notices that network access is becoming increasingly slow. All of the activity lights, on the only network layer 2 switch, are blinking at steadily
increasing rates. Which of the following is the MOST likely cause of the increased traffic?

A. STP blocking
B. IP addresses
C. MTU mismatch
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D. Switching loop

Answer: D

NEW QUESTION 435
- (Exam Topic 3)
Which of the following communication modes has the LOWEST overhead necessary to support streaming protocols such as RTP?

A. Connectionless
B. Stateful
C. Full Duplex
D. Quality of Service

Answer: A

NEW QUESTION 440
- (Exam Topic 3)
169.254.1.100 is an IP address which would MOST likely come from which of the following?

A. CIDR
B. DHCP
C. APIPA
D. DNS

Answer: C

NEW QUESTION 444
- (Exam Topic 3)
Which of the following protocols are used for accessing a command line terminal session for management purposes? (Select TWO).

A. Telnet
B. FTP
C. SNMP
D. SSH
E. RDP

Answer: AD

NEW QUESTION 445
- (Exam Topic 3)
A company has attempted to introduce a new major network segment to allow growth in capacity. On the core switch, a GBIC was used to interconnect with a
newly placed downstream distribution switch for the first time. Soon after this implementation, a network flood and an outage occurred between the core and new
distribution network modules. Which of the following should the network administrator troubleshoot FIRST in order to rectify the issue?

A. Check for switching loops between core and distribution switches.
B. Check whether an incorrect VLAN has been assigned to the new distribution switch.
C. Check for inconsistent or missing routes between the core and distribution switches.
D. Check whether the GBIC was set to multi-mode instead of single-mode SFP.

Answer: A

NEW QUESTION 446
- (Exam Topic 3)
An analog POTS voice line is no longer working and Kim, the technician, is tasked to verify if a dial tone is present at the IDF. Which of the following tools would be
used?

A. Protocol analyzer
B. Butt set
C. OTDR
D. Toner probe

Answer: B

NEW QUESTION 447
- (Exam Topic 3)
A network technician is troubleshooting intermittent issues with VoIP call quality. A throughput tester can help assess the functionality of which of the following?

A. LLDP
B. VLAN tagging
C. QoS
D. SIP trunking

Answer: C

NEW QUESTION 451
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- (Exam Topic 3)
Kim, the client, has requested a cost-effective network solution to accommodate the ability to reconfigure the office space as needed. Which networking solution
would provide the BEST solution?

A. Private IP Addressing
B. Wireless Access Points
C. Wide Area Networking
D. Virtual Local Area Networks

Answer: B

NEW QUESTION 456
- (Exam Topic 3)
Which of the following is networking stand-alone hardware that will permit any WiFi-compliant device to connect to a network?

A. Wireless hub
B. Wireless firewall
C. Wireless access point
D. Wireless bridge

Answer: C

NEW QUESTION 457
- (Exam Topic 3)
A network technician performs several switch commands to enable various advanced features on the switch in the accounting department. During the configuration
changes, several users from this department report connectivity issues. Which of the following logs would the network technician need to analyze to troubleshoot
the connectivity issues?

A. Router logs
B. History logs
C. Startup/bootup config logs
D. Event Viewer logs

Answer: B

NEW QUESTION 462
- (Exam Topic 3)
Which of the following media types can carry a standard Ethernet signal for network connectivity?

A. USB
B. PArallel
C. Serial
D. CAT6

Answer: D

NEW QUESTION 463
- (Exam Topic 3)
Kim, a network administrator, should consult which documentation sources FIRST to determine the cause of recent network issues?

A. Network map
B. Cable management
C. Change management
D. Asset management

Answer: C

NEW QUESTION 466
- (Exam Topic 3)
A supervisor requests that a technician downloads a MIB for a particular server. Which of the following protocols requires MIBs?

A. IPSec
B. SSL
C. ISAKMP
D. SNMP

Answer: D

NEW QUESTION 469
- (Exam Topic 3)
A new user is reporting connectivity issues. Zach, the network technician, notices that there is no link light on the user's NIC. Which of the following would be used
to verify the wiring back to the patch panel?

A. Butt set
B. Cable certifier
C. Toner probe
D. Snips
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Answer: B

NEW QUESTION 474
- (Exam Topic 3)
A customer wishes to network several computers throughout a large warehouse containing numerous metal shelves and concrete walls. The computers are at
least 175 meters (574 feet) apart. Which of the following media types should be recommended for the customer using only a single switch?

A. Fiber optic
B. Wireless
C. CAT5e
D. CAT3

Answer: A

NEW QUESTION 478
- (Exam Topic 3)
Which of the following technologies could be implemented to improve call clarity when using VoIP technology?

A. Static IP addressing
B. Caching engines
C. QoS
D. Port forwarding

Answer: C

NEW QUESTION 479
- (Exam Topic 3)
A network technician receives a call from a branch office about a problem with its wireless connectivity. The user states the office hosting a large meeting that
includes some online training with local businesses. The guest users have all brought devices to connect to the guest network at the branch office. All users are
connected to a single WAP and are reporting that connections dropping and network speeds are unusable. Which of the following is the MOST likely cause of this
issue?

A. DCHP exhaustion
B. Chanel overlapping
C. Interference
D. Overcapacity

Answer: C

NEW QUESTION 481
- (Exam Topic 3)
Which of the following needs to be configured on a switch to use a packet sniffer?

A. Port trunking
B. Port mirroring
C. Tagged VLAN
D. Untagged VLAN

Answer: B

NEW QUESTION 483
- (Exam Topic 3)
A network technician is trying to terminate CAT5 modular jacks. Which of the following tools would be MOST appropriate for this scenario?

A. Crimper
B. OTDR
C. Throughput tester
D. Punch down tool

Answer: D

NEW QUESTION 487
- (Exam Topic 3)
Which of the following is used to create a secure connection between a client and a host?

A. VLAN
B. Proxy server
C. IIS server
D. VPN

Answer: D

NEW QUESTION 489
- (Exam Topic 3)
Jeff, a user, is having a problem with a POTS line. Which of the following tools would Jeff use to make sure the phone lines have a dial tone?
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A. Loopback plugs
B. Butt set
C. Cable certifier
D. Toner probe

Answer: B

NEW QUESTION 490
- (Exam Topic 3)
A mobile user is no longer able to access network resources. Jeff, the network technician, is unable to ping the user's workstation. Which of the following
commands would MOST likely be used on that workstation to verify its current network settings?

A. net share
B. hostname
C. ipconfig
D. tracert

Answer: C

NEW QUESTION 493
- (Exam Topic 3)
A network administrator suspects an employee of using the company's Internet connection to download illegal content. Which of the following can be used to
inspect ongoing network traffic?

A. Syslog server
B. Toner probe
C. OTDR
D. Packet sniffer

Answer: D

NEW QUESTION 497
- (Exam Topic 3)
A network technician at a small office upgrades the VLAN switch. After the upgrade, a user reports being unable to access network resources. When the
technician checks the switchport, the LED light is not lit. Which of the following should technician check FIRST?

A. The device is using the correct cable type.
B. The switchport is functioning properly.
C. The device is connected to the switch.
D. The switch is connected to the router.

Answer: C

NEW QUESTION 501
- (Exam Topic 3)
Which of the following devices is used to distribute network traffic equally over multiple links?

A. Content filter
B. DNS server
C. Load balancer
D. Proxy server

Answer: C

NEW QUESTION 502
......
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